EXPLANATIONS



READING COMPREHENSION

Excerpt from “It's Time to Stop Thinking That All Non-Native Species Are Evil”

1. The question asks which sentence from the excerpt supports the conclusion that Elton’s
“militaristic ‘invasion’ metaphor” (paragraph 1) has influenced scientific understanding of non-

native species.

A. CORRECT. This sentence shows that of the 2,000 ecologists Olden polled, many said they
think it is right to “immediately eradicate” non-native species plants even if they are
demonstrably harmless in their new environment. The response of these ecologists supports
that Elton’s metaphor discussed in paragraph 1 has influenced scientific understanding.

B. Incorrect. Rather than supporting the idea that the militaristic metaphor has influenced
scientists, this sentence shows that conservationists, at any rate, are happy to let non-
native species thrive wherever they can, given global warming.

C. Incorrect. While this sentence does refer to efforts to eradicate a non-native species, the
main point of it is that these efforts ended up harming a native species (the clapper rail
shorebird).

D. Incorrect. In contrast to supporting the idea that the militaristic invasion metaphor has
influenced scientific understanding of non-native species, this sentence puts forth the bold
idea of treating non-native species as something to be welcomed.

2. The question asks which detail provides the most relevant support for the claim that “climate

change is making it harder even to decide who the invaders are” (paragraph 7).

A. CORRECT. The fact that many plants and animals have no choice but to seek out “climate
conditions they can tolerate” (paragraph 8) makes it much harder to decide whether to call
these species invaders.

B. Incorrect. The fact that many domestic crops are non-native species has nothing to do with
climate change affecting our discernment of which species are invaders.

C. Incorrect. The description in paragraph 11 of native and non-native species interacting
never suggests that climate change is a factor in these interactions and never suggests that
climate change muddies our understanding of which species is native and which is
non-native.

D. Incorrect. While the example of Mark Davis so thoroughly changing his beliefs about non-
native species is a powerful one, the role that climate change might have played in this
reversal is never discussed.



The question asks for the two phrases from paragraph 3 that most affect the tone of

the excerpt.

A.

“sounded the alarm”: CORRECT. This phrase affects the tone of the excerpt by conveying
the stark sense of urgency surrounding the debate over the ecological impact of non-native
species. The reference to an alarm sounding evokes the feeling of being on high alert.

“gotten the message”: Incorrect. This phrase does not most affect the tone of the excerpt.

. “rip out”: CORRECT. This phrase affects the tone of the excerpt by vividly depicting the

effect of widespread misunderstanding of non-native species.

“become increasingly popular”: Incorrect. This phrase does not most affect the tone of
the excerpt.

. “provide food”: Incorrect. This phrase does not most affect the tone of the excerpt.

The question asks which sentence from the excerpt supports the idea that some species are

able to adjust to change.

A.

C.

Incorrect. This sentence discusses native gardens, featuring native species, which
presumably have no need to adjust to change.

CORRECT. This sentence demonstrates that some species—in this case, Hawaiian flowers—
have adapted well to change: the flowers thrive thanks to new pollinators.

Incorrect. This sentence focuses on the importance of “preventing extinctions and
preserving biodiversity” but does not address the fact that being able to adjust to change is
one thing that helps achieve those goals.

Incorrect. Far from demonstrating that some species can adjust to change, this sentence
discusses species that were not adjusting to the loss of large tortoises and were therefore
“on the decline.”



The question asks how the details in the section “A Good Thing, Not the Only Thing” convey a

central idea of the excerpt.

A.

Incorrect. While paragraph 15 does discuss introducing non-native Aldabra tortoises to
replace native tortoises that no longer exist, the real point of this section is to show that
non-native species can sometimes help support native species that still exist but are
struggling. In this case, the Aldabra tortoises are now moving seeds around for the fruiting
plants on the islands where the tortoises have been introduced.

CORRECT. This section discusses situations in which non-native species should be kept (as
in the example of the Aldabra tortoises in paragraph 15) but also asserts that “most of the
time . . . conserving species still means focusing on supporting them in their historical
habitats, planting natives and removing non-natives” (paragraph 16). This section makes
the point that the issue of non-natives needs to be considered on a case-by-case basis.

. Incorrect. This section does not claim that non-native species always or even usually

enhance biodiversity; rather, it states that “in some cases we can best serve biodiversity by
leaving the non-natives alone or even—brace yourself, now—introducing them on purpose”
(paragraph 14), later adding that “most of the time . . . conserving species still means
focusing on supporting them in their historical habitats, planting natives and removing non-
natives” (paragraph 16).

Incorrect. While the section happens to give a good example of a habitat that supports both
native and non-native species (the islands of Mauritius), it never suggests that being able to
do so is a defining characteristic of healthy habitats.

This question asks how climate change has mainly affected efforts to manage invasive species.

A.

Incorrect. While ecologists are now arguing for some non-native species to be left alone
(paragraph 13), they are arguing specifically on behalf of “well-behaved” non-native species
(paragraph 12), not non-native species in general.

Incorrect. While paragraph 10 describes how removing a non-native species negatively
affected a native species, the excerpt never discusses the idea that attempts to eliminate
non-native species might have damaged the environment.

. Incorrect. While the excerpt refers to climate change causing plants and animals to move to

more tolerable environments (paragraph 8), it does not specifically discuss ways to ensure
that the arrival of these non-native species does not harm native species.

CORRECT. As paragraph 8 says, “plants and animals are already moving toward the poles”
because of climate change, and ecologists recognize that those species need to do so to
adapt “to the warmer future we're creating.”



The question asks how the chart provides additional support for a central idea of the excerpt.

A. Incorrect. The chart indicates that the public tends to become aware of non-native species
once eradication is “unlikely or impossible,” not strictly impossible. Furthermore, this idea is
not a central idea of the excerpt.

B. CORRECT. The chart strongly suggests that once “rapid increase in populations” of non-
native species has occurred, eradication will be “unlikely or impossible.”

C. Incorrect. While the chart does show that non-native species can eventually be impossible
to eradicate, it never addresses the issue of how the non-native species might be
destructive to their new environments.

D. Incorrect. The chart shows how non-native species become harder and harder to remove as
their population grows but does not explain how any conservation groups have approached
their removal.

The question asks which quotations from the excerpt present a claim and which present
evidence in support of a claim. (A claim is a statement made as part of an argument that can
be supported or proved with evidence. Supporting evidence can include facts, figures, details,

quotations, or other sources of data and information that can be evaluated by others.)

A. Row 1: Presents a claim [“That kind of approach is not very useful on a rapidly changing
planet.” (paragraph 6)]. The phrase "is not very useful" indicates that the sentence
expresses a claim—an arguable statement, or in this case an opinion, for which the author
must provide proof.

B. Row 2: Presents evidence [“A project to rip out and poison the spartina—which grows in
dense swaths that exclude many other shorebirds—saw clapper rail numbers go tumbling
downward.” (paragraph 10)]. Despite its figurative language (“tumbling downward”), this
sentence does not present a claim that must be supported by evidence. Instead, the
sentence provides factual information—that numbers of clapper rail birds decreased when
spartina grass was removed—that is evidence for another claim, that non-native plants can
be welcome sometimes.

C. Row 3: Presents a claim [“In some cases we can best serve biodiversity by leaving the non-
natives alone or even—brace yourself, now—introducing them on purpose.” (paragraph 14)].
The wording “we can best serve” signals that this sentence presents a claim—a statement
being made as part of an argument that needs proof in order to be accepted—regarding the
best way to achieve biodiversity.

D. Row 4: Presents evidence [“A tortoise that’s related to the island’s large tortoises—a non-
native from the Seychelles in the Indian Ocean that was intentionally introduced in 2004 —is
now handling some of that work.” (paragraph 15)]. Although this sentence does not provide
statistics, quotations, or other obvious markers that signal evidence, it does provide a
factual example—non-native tortoises are now moving the seeds of fruiting plants in a way
that preserves the diversity of plant life on the islands of Mauritius—that is used to support
the author’s claim that non-native species can help preserve diversity.



A Miracle Mile

9.

The question asks how the words “feat,” “humanly impossible,” and “impenetrable barrier” in

paragraph 1 affect the tone of the paragraph.

A.

Incorrect. Although paragraph 1 states that “several elite runners aimed to break that
supposedly impenetrable barrier,” the words “feat,” “humanly impossible,” and
“impenetrable barrier” suggest that the goal was unattainable even for the most
skilled runners.

CORRECT. No one had ever been able to run a mile in less than four minutes, and the
words “feat,” “humanly impossible,” and “impenetrable barrier” imply that the goal seemed
unattainable. These words also reinforce the comparison of running a four-minute mile to
“scaling Mount Everest” (paragraph 1).

. Incorrect. The words “feat,” “humanly impossible,” and “impenetrable barrier” describe how

challenging and almost impossible running a four-minute mile seemed, and while other elite
runners “aimed to break that supposedly impenetrable barrier” (paragraph 1), the
paragraph focuses on Roger Bannister, not the competition among elite runners seeking to
break the record.

Incorrect. Bannister’s training program is described in paragraphs 3 and 4, and the words
“feat,” “humanly impossible,” and “impenetrable barrier” are used in paragraph 1 to
describe the magnitude of Bannister’s goal to run a four-minute mile. Though his training
program was intense, these words relate to the intensity of the goal itself, not to the
intensity of his training.

10.

The question asks how the sentences from paragraph 7 contribute to the development of ideas

in the passage.

A.

CORRECT. The sentences from paragraph 7 show that toward the end of the race, Bannister
knew that the goal of breaking the four-minute-mile barrier was within his grasp and that

he had the focus necessary to achieve it. The sentence following Bannister’s quotation
states that he did indeed meet his goal, crossing “the finish line in 3 minutes 59.4 seconds”
(paragraph 7).

Incorrect. The feelings Bannister expressed in the sentences from paragraph 7 did not erase
those feelings related to his loss at the 1952 Olympics, which were what drove him to the
achievement he was about to make.

. Incorrect. While the quotation states that Bannister felt “unity,” this pertains to his running,

not to his work with the team. The sentences from paragraph 7 capture Bannister’s focus on
his chance to break the barrier and what he was feeling at that moment.

Incorrect. The sentences from paragraph 7 express Bannister’s realization that he was on
the verge of reaching a goal. The sentences show that in the seconds before crossing the
finish line, Bannister was fully focused on the end goal and was not thinking about his
training or his running technique.



11.

The question asks which sentence best supports the idea that Bannister needed an alternative

to “logical planning” (paragraph 3) in order to accomplish his goal.

A.

Incorrect. The outcome of the 1952 Olympics, referenced in the sentence from paragraph 2,
is what prompted Bannister to seek a new goal: “Determined to redeem himself,

Bannister . . . focused on the ultimate prize—breaking the four-minute-mile barrier”
(paragraph 2).

Incorrect. The sentence from paragraph 3 does not show an alternative to Bannister’s
training plan to “develop endurance and speed” (paragraph 3) and his focus on using logical
planning in order to accomplish his goal.

. Incorrect. The sentence from paragraph 4 focuses on details of his training plan, explaining

the “intensive interval training” (paragraph 3) that Bannister used to build his endurance
and speed, not an alternative form of preparation.

CORRECT. The sentence from paragraph 4 explains that Bannister reached a point where
he could not improve his time despite the strict training plan he had created. Taking a break
from his training to spend time mountain climbing “permitted his muscles to recuperate and
left him feeling refreshed” (paragraph 4).

12,

The question asks which sentence indicates that Bannister nearly made a mistake that would

have cost him the world record.

A.

Incorrect. The sentence from paragraph 4 describes a challenge Bannister faced during his
training period, when he used “intensive interval training to develop endurance and speed”
(paragraph 3). Bannister ran laps on a “quarter-mile track” (paragraph 3) and was able to
control his pace at this time—unlike during the actual race to break the record.

Incorrect. The sentence from paragraph 6 describes the start of the race and Brasher’s role
as “first rabbit” for Bannister. Bannister was behind Brasher, following their plan for
breaking the record.

. CORRECT. If Bannister had begun running faster than the “steady but grueling pace”

(paragraph 7) set by his “rabbit,” he would likely not have had enough energy to finish the
race. As paragraph 6 notes, “the runner conserves about 15 percent of his or her effort” by
allowing the rabbit to set the pace. Bannister had "lost his instinctive feel for his pace"
(paragraph 7) in the excitement of the race. If he had given in to his impulse to run faster
and bypassed the rabbit at that point in the race, it would have cost him energy, and, in
turn, the record.

Incorrect. The sentence from paragraph 7 describes how Bannister leaped ahead of
Chataway, his second “rabbit,” at the appropriate time in the effort to break the record.
Chataway had “surged forward, leading Bannister at this same punishing rate for another
lap and a half” (paragraph 7) before Bannister moved past him.



13.

The question asks how Bannister’s loss in the 1952 Olympics influenced his decision to pursue

breaking the four-minute-mile barrier.

A.

Incorrect. While Bannister recognized the weaknesses that led to his poor performance in
the Olympics and worked “to develop endurance and speed” (paragraph 3), the loss made
him “determined to redeem himself” (paragraph 2). The desire for redemption influenced
Bannister to focus specifically on running a mile in under four minutes, rather than on
winning other races or training for other distances.

Incorrect. Although Bannister developed an “intensive interval training” plan to improve his
“endurance and speed” (paragraph 3), he applied a different approach only after his
progress toward a four-minute mile reached a “plateau” (paragraph 4) in 1954. It was his
desire to “shave off at least one more second in order to reach his target” (paragraph 4)
that prompted him to take a break from interval training and go mountain climbing for
three days.

. CORRECT. Bannister sought to redeem himself after “he finished in a dismal fourth place”

at the Olympics (paragraph 2). He thought that his performance “was a disappointment for
him and his country, Great Britain,” and he responded by setting a goal to successfully
conquer the four-minute mile, which was considered the “ultimate prize” (paragraph 2).

Incorrect. Bannister’s loss at the 1952 Olympics motivated him to change his training focus
to reaching the “ultimate prize” (paragraph 2) of breaking the four-minute-mile barrier,
which no other runner had accomplished. His loss at the Olympics did not present him with
a specific opportunity to reach this goal.

14.

The question asks how interval training affected Bannister’s performance.

A.

Incorrect. The moderation of his pace was achieved through the use of “rabbits,” described
in paragraph 6, more than through his method of interval training.

Incorrect. Bannister worked individually during the interval training period and then paced
himself with a two-person team of “rabbits,” which were introduced in paragraph 5 and
explained in paragraph 6. It was the use of “rabbits” during the race that helped him
conserve some of his effort, not the interval training.

CORRECT. As paragraph 3 states, the goal of Bannister’s training program was to “develop
endurance and speed,” which are synonyms of the words “stamina” and “pace.”

Incorrect. Although Bannister “let his body recover for two minutes” (paragraph 3) during
interval training, this was not the primary effect of the training on Bannister's performance.
Instead, interval training allowed him to develop greater endurance and speed.



15. The question asks how the author’s use of chronological structure contributes to the

development of ideas in the passage.

A. Incorrect. While paragraph 4 mentions the “plateau” Bannister dealt with and the break that
“permitted his muscles to recuperate,” the chronological structure of the passage focuses
mainly on the progression of Bannister’s process over time.

B. Incorrect. Even though the passage suggests that Bannister’s ability to break the
four-minute-mile barrier improved and that he felt “prepared to attempt to break the world
record” (paragraph 4), the chronological structure of the passage primarily serves to show
how Bannister’s progress over time led to his success.

C. Incorrect. The chronological structure of the passage begins with an acknowledgment that
Bannister was inspired to break the four-minute-mile barrier by his loss at the 1952
Olympics (paragraph 2); however, the overall organization of the passage highlights his
dedicated efforts over time to break the four-minute-mile barrier.

D. CORRECT. The chronological structure of the passage follows the progression of Bannister’s
training from his loss at the 1952 Olympics to the race where he ran the first
sub-four-minute mile on May 6, 1954 (paragraph 5).



Excerpt from In Search of the Unknown

16. The question asks how paragraph 2 helps develop the plot.

A. Incorrect. As paragraph 1 indicates, writing such letters is one of the main parts of the
narrator’s job (“and I was always busy, part of the day, in dictating answers to
correspondents”), and he shows no indication of disliking this work. The letters are to
inform people whether the zoo will accept their animals.

B. Incorrect. Paragraph 2 indicates that the narrator offers his letters to the professor merely
for official approval. At the start of the excerpt, the narrator is confident in his reply and
does not anticipate that his response will differ from that of the professor, so he has no need
to “predict what the professor would say.”

C. CORRECT. The phrase “uncompromising refusals” in paragraph 2 indicates the confidence
that the narrator initially has in his belief that the animals described in the letters are not of
value to the society. This confidence is badly shaken as the plot unfolds, as when
Professor Farrago states that “ ‘I am daring to believe that it is the great auk itself’ ”
(paragraph 23). The narrator’s transition from an attitude of dismissive doubt to one of
budding hopefulness is a major part of the plot (“But I was not shocked; on the contrary, I
was conscious that the same strange hope that Professor Farrago cherished was beginning,
in spite of me, to stir my pulses, too” [paragraph 341]).

D. Incorrect. The narrator does not resent the professor’s review of the letters; instead, the
phrase “of course” in paragraph 2 shows that he expects to submit the letters to the
professor as part of his job.

17. The question asks what the phrase “a faint trace of apology” in paragraph 3 conveys about the

professor.

A. Incorrect. The fact that the narrator had intended to leave the office for the day is not the
source of the professor’s faintly apologetic manner, which is instead caused by the
professor’s understanding that their conversation about the letter and the expedition is
likely to cause an argument (“with a whimsical smile that suggested amusement,
impatience, annoyance” [paragraph 3]). In paragraph 29, the professor asks the narrator if
he can leave on an expedition that same evening, which indicates that the professor does
not feel bad about taking up the narrator's time after work.

B. Incorrect. The paragraphs that follow the sentence from paragraph 3 show the professor
sharing his opinions without pause, even when his opinion of the narrator is unflattering
(“ ‘Like swimming squirrels, you navigate with the help of Heaven and a stiff breeze, but
you never land where you hope to—do you?’ ” [paragraph 17]).

C. Incorrect. The professor knows that the narrator will push back regarding the letter, but the
professor is not uncomfortable challenging the narrator. Professor Farrago seems perfectly
at ease and comfortable as he begins the discussion with the narrator.

D. CORRECT. The professor is both amused and annoyed by the narrator’s dismissal of the
possibility that great auks still exist, and the professor knows that the narrator is likely to
react negatively to being sent on what the narrator considers a “fool’s errand”
(paragraph 25).



18. The question asks how the exchange between the professor and the narrator in

paragraphs 8-11 contributes to the development of the characters.

A. CORRECT. Paragraphs 8-11 help develop the characters by revealing the difference
between the opinions of the narrator and the professor. The narrator believes without any
doubts that Halyard, the man who wrote the letter about the auks, is either “ ‘a liar or a
fool” ” (paragraph 9), while the professor believes in the possibility that the writer of the
letter could actually be telling the truth (“I said as much to Professor Farrago, but, to my
surprise, he appeared to waver” [paragraph 8]).

B. Incorrect. In paragraph 8, the narrator reacts to the letter writer with "a contemptuous
tolerance," and he is shocked to learn that the professor actually agrees with the man
(paragraph 11) whom the narrator has bluntly condemned as a liar or a fool (" 'In my
opinion,' said I, 'he's one or the other.' " [paragraph 10]). The exchange presents an
emphatic disagreement between the narrator and the professor, and it does not show them
working together in a collaborative manner.

C. Incorrect. Although the narrator initially distrusts the contents of the letter and shows
“contemptuous tolerance for the writer” (paragraph 8), the excerpt portrays the professor
as experienced and intelligent, not as one who is easily deceived.

D. Incorrect. While the narrator does begin to consider the professor’s perspective at the end
of the excerpt, paragraphs 8-11 primarily serve to establish the difference of opinion
between the narrator and the professor about the writer of the letter.



19. The question asks how the professor’s observations in paragraphs 15-17 create tension in

the excerpt.

A. CORRECT. The professor criticizes “ ‘you young fellows’” ” (paragraph 15), suggesting that
the ideas of young scientists like the narrator are unsupported (“ ‘like swimming squirrels’ ”
[paragraph 17]) and inaccurate (“ ‘but you never land where you hope to—do you?’ ”
[paragraph 17] and “ ‘you embark on a theory for destinations that don’t exist’ ”
[paragraph 15]). The narrator then becomes “red in the face” (paragraph 18), indicating
that the narrator is upset by the professor’s criticism, and asks the professor about the
great auk in an attempt to defend himself.

B. Incorrect. While the narrator does experience a negative reaction to the professor’s words,
the professor is being genuine, not sarcastic. In fact, the sarcasm comes from the narrator
in paragraph 14 (” ‘It is generally accepted,’ I replied, sarcastically, ‘that the great auk has
been extinct for years. Therefore I may be pardoned for doubting that our correspondent
possesses a pair of them alive’ ”), not from the professor.

C. Incorrect. The professor’s observations cause the narrator to blush with embarrassment
(“rather red in the face” [paragraph 18]), but the narrator understands the point that the
professor is making about the narrator’s acceptance of the idea that great auks do not exist.
The narrator recognizes that the professor is criticizing his youthful ideas, not his opinion.

D. Incorrect. The professor shows amusement with the narrator’s perspective. The narrator is
embarrassed and upset by the professor’s words, but the narrator does not display
frustration with the professor’s lack of interest in a commonly held view of the existence of
a certain species of bird.



20.

The question asks how the interaction between the narrator and the professor in

paragraphs 26-28 contributes to the development of the theme.

A.

Incorrect. Paragraphs 26-28 do not show the narrator arguing against making the
expedition. He instead argues that it is unnecessary for the professor to pay to send extra
men on the expedition. The narrator points out that he can ask for assistance if he does, in
fact, find great auks (“ ‘None,’ I replied, bluntly; ‘it's a useless expense, unless there is
something to bring back. If there is I'll wire you, you may be sure’ ” [paragraph 28]).

Incorrect. When the professor criticizes the narrator’s blind acceptance of the theory about
the existence of the auks, the narrator is frustrated and embarrassed. This frustration does
not stem from his inability to make decisions for the zoological society.

. Incorrect. The professor states that “ ‘what I want you to do is to get those birds here

rn

safely’ ” (paragraph 27), which indicates that his main priority is the birds’ safety rather
than acquiring specimens regardless of the consequences (i.e., at any cost).

CORRECT. Paragraph 26 describes the professor and the narrator making practical plans for
the expedition (“we made out a list of articles necessary for me and itemized the expenses I
might incur”), indicating the narrator’s acceptance of his assignment while also revealing
that he does not anticipate a “successful termination to the expedition.” Paragraph 28
further describes the personal objections of the narrator, who believes that adding extra
men to the expedition is pointless (“ ‘a useless expense’ ”), since he does not expect to find
any great auks to bring back.

21.

The question asks which sentence from the excerpt best explains why the professor is eager to

send the narrator on an expedition.

A.

Incorrect. In the sentence from paragraph 25, the narrator suspects the professor is losing
his ability to reason because his request (to secure the great auk for the society) seems
impossible. The professor is excited about the discovery, but the narrator doubts whether
the discovery is real. The sentence does not explain why the professor is excited, however.

Incorrect. Paragraph 26 shows the professor and the narrator planning the logistics of
the trip, but it does not explain why the professor is eager to send the narrator on
the expedition.

. Incorrect. Although the sentence from paragraph 27 expresses the professor’s interest in

having the narrator bring the birds back safely, it does not show the underlying reason why
the safety of the birds is so crucial, which is that the great auk is extremely rare.

CORRECT. The sentence from paragraph 33 reveals the professor’s excitement to get “ ‘the
rarest of living creatures,” ” the great auk. In paragraph 14, the narrator states that “it is
generally accepted . . . that the great auk has been extinct for years,” which would make a
living auk incredibly rare and explains the professor’s eagerness for the narrator to go on
the expedition.



22,

The question asks how paragraph 34 helps develop the plot of the excerpt.

A.

CORRECT. Despite his initial disbelief, the narrator admits in paragraph 34 that he is
starting to feel the “same strange hope” the professor feels, which is to find the great
auks (paragraph 33).

Incorrect. While the narrator does make an effort in paragraphs 11-22 to understand the
professor’s thinking, paragraph 34 reveals that the narrator has been affected by the
professor’s “strange hope” for the auks and is beginning to share this hope “in spite

of” himself.

. Incorrect. The narrator describes a feeling of hope in paragraph 34 that would not be

present if he had simply been overruled by the professor and did not share any of the
professor’s belief in the possibility that the auks exist. In addition, it was established before
paragraph 34 that the narrator was willing to be overruled ("I drew a chair up beside his
desk—there was nothing to do but to obey, and this fool’s errand was none of my
conceiving" [paragraph 25]).

Incorrect. The narrator does not express a sense of urgency in paragraph 34 to complete
the expedition. Instead, he expresses hope that the great auks might really exist.

23.

The question asks which sentence best demonstrates the professional relationship between the

narrator and the professor.

A.

Incorrect. Although the professor’s handing of the paper to the narrator indicates that they
are beginning to discuss the letter about the great auk, the sentence from paragraph 4 does
not convey the relationship between a subordinate employee (the narrator) and a superior
(the professor).

Incorrect. The sentence from paragraph 24 presents the narrator’s immediate internal
reaction to the professor’s words. The sentence emphasizes that the professor’s belief in the
great auk’s existence is so outrageous that the narrator initially thinks the professor is
starting to lose touch with reality. This is a momentary reaction to the professor’s words,
not a demonstration of the professional relationship between the two.

. CORRECT. The sentence from paragraph 25 reveals that while the narrator disagrees with

the professor (“this fool’s errand was none of my conceiving”), he obeys because he works
for the professor (“there was nothing to do but to obey”).

Incorrect. The professor’s good-humored offer of assistance in the sentence from
paragraph 29 does not best demonstrate the underlying employer-employee relationship
between the professor and the narrator. The narrator has to go on the expedition because
the professor, his boss, told him to.



24. The question asks how the author develops the contrast between the narrator’s point of view

and the professor’s point of view.

A. Incorrect. The excerpt does not describe the narrator’s thoughts about how age and
experience influence the professor’s reasoning in enough detail to fully contrast them
against the thoughts about the narrator that the professor expresses in paragraphs 15-17.
The narrator’s idea that the professor might be “on the verge of dotage” (paragraph 24) is
meant in a humorous way.

B. CORRECT. The primary conflict of the excerpt revolves around the narrator’s disagreement
with the professor about whether the letter about the great auks could be true. As the two
men converse, their contrasting attitudes toward the letter become clear: the narrator
dismisses the possibility of great auks out of hand (” ‘of course the man is mistaken
[paragraph 5]; “ ‘here is a man . . . who wants you to send somebody to take charge of a
bird that doesn’t exist!” ” [paragraph 12]), while the professor calmly admits that although
“ ‘nine hundred and ninety-nine men in a thousand would throw that letter aside and
condemn the writer’ ” (paragraph 9), he himself believes that the writer could be telling the
truth (“ ‘How do you know,” asked Professor Farrago, ‘that the bird in question does not
exist?’ ” [paragraph 13]).

C. Incorrect. The professor explains why he disagrees with the narrator (paragraphs 19-21),
but he does not make persistent efforts to convince the narrator to change his mind about
the letter. Instead he states that the narrator will go on an expedition to retrieve
" 'whatever it is that our correspondent has’ ” (paragraph 23), thereby requiring the
narrator to go collect the great auks whether the narrator believes in them or not.

D. Incorrect. The point of the dialogue is not to explain the subordinate-supervisor relationship
between the narrator and the professor but rather to contrast what each character believes
about the contents of the letter.
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25. The question asks for the best textual support for the idea that the neighbor’s actions in calling

the cat directly affect the speaker of the poem.

A. Incorrect. Lines 1-2 show that the speaker has noticed the neighbor’s calling and guessed
the reason for it. The speaker at first believes that the neighbor is “calling a child,” but then
the speaker notices a sound associated with the time of day—the “street lamps just starting
to hum / the backdrop of evening” (lines 3-4). However, the poem does not describe any
direct effects on the speaker’s own opinions or behavior caused by these aspects of the
surroundings.

B. Incorrect. The “high-pitched wheedling” sound the speaker mentions in line 5 might be
assumed to have an annoying effect. However, the poem includes no indication that the
sound has any direct effect on the speaker or that the speaker has any personal reaction to
the sound. Instead, in lines 6-7, the speaker concentrates on explaining the reason people
make the sound: to communicate with “animals who know only sound, not / the meanings
of our words.”

C. Incorrect. In lines 20-21, the speaker actively listens “as my neighbor’s voice trails off,”
which could be interpreted as an effect of the neighbor’s call. However, the speaker’s
listening soon comes to an end because the neighbor has “given up calling for now,” and the
poem does not describe any direct effects on the speaker’s own opinions or behavior caused
by listening. Therefore, lines 20-21 do not best support the idea that the neighbor’s actions
directly affect the speaker of the poem.

D. CORRECT. In lines 25-26, after observing the neighbor calling the cat, the speaker begins
to reflect on the speaker’s own behavior and motivations, wondering if, like the neighbor,
the speaker “might lift” the speaker’s voice to call someone who is surely “out there.” The
speaker’s description of being left “to wonder” indicates that the speaker’s thoughts are a
direct effect of observing the neighbor’s efforts to call the cat.



26. The question asks how the isolation of the words “—here here—" in line 7 mainly contributes

to the meaning of the poem.

A. Incorrect. The words “—here here—" do interrupt the speaker’s observation in lines 7-8
that “our words . . . /. . . sometimes fall short.” However, in lines 5-7, the speaker
observes that the neighbor accompanies her words with a “high-pitched wheedling” that
people “send out” because they are aware that animals “know only sound, not / the
meanings of our words,” indicating that the neighbor does not actually expect her words to
be understood. The description of the cat’s response in lines 10-11 (“the cat lifts her ears,
turns first / toward the voice, then back”) does not suggest that the neighbor’s message is
misunderstood but rather suggests that the cat prefers not to respond to it.

B. Incorrect. In lines 20-21, the “neighbor’s voice trails off,” and she does give up calling the
cat. However, rather than any desperation to connect, the neighbor’s use of a “high-pitched
wheedling” (line 5) simply indicates her understanding that the cat, like other animals,
understands “only sound, not / the meanings of our words” (lines 6-7) such as “here here.”
Furthermore, the neighbor does not give up quickly. In lines 21-22, the speaker says the
neighbor has “given up calling for now” but is still “waiting” for the cat.

C. Incorrect. In lines 4-7, the speaker describes the neighbor calling to the cat with a “high-
pitched wheedling.” The sound may indicate a bond between the neighbor and the cat
because the neighbor does understand that animals “know only sound, not / the meanings
of our words” (lines 6-7). However, the use of the words “here here” in line 7 do not
indicate that bond, because they are used as an example of the type of words that animals
do not understand.

D. CORRECT. The speaker’s initial thought in line 1 that the neighbor is calling a child, rather
than a cat, suggests that the neighbor loves and misses the cat. Lines 4-7 then present the
speaker’s observation that the neighbor uses a “high-pitched wheedling,” to emphasize the
simple words of her call, “—here here—."” The idea that the words are an example of a
simple expression used to call home a missed loved one is reinforced in lines 25-29, when
the speaker is “left . . . to wonder” whether the speaker, too, “might lift / [his or her] voice”
and be able “to call someone home.”



27. The question asks how the details in lines 10-17 convey a central idea of the poem.

A. Incorrect. In lines 10-17, the speaker says that the cat’s actions—she “turns first / toward
the voice, then back”—makes the cat seem “as if she can’t decide” whether to return home
or to explore “the constellation of fireflies flickering / near her head.” However, while the cat
is indecisive, it is not the experience of independence that causes this conflict for the cat but
rather the “luminous / possibility . . . flitting before her” (lines 17-19).

B. Incorrect. The neighbor’s calling of the cat indicates that she does allow it to roam outside
regularly. However, the details in these lines focus not on whether allowing the cat to roam
is an expression of caring but on the cat’s reaction to the neighbor’s calls, “as if she can’t
decide” (line 13) whether to return home “into the steady circle / of light” (lines 16-17) or
stay and enjoy the “luminous / possibility” (lines 17-18) that the night offers. Furthermore,
the neighbor’s “wheedling” (line 5) and the timing of her call, “at dusk” (line 3), introduce
the possibility that encouraging others to come home expresses more caring than allowing
them to roam freely.

C. Incorrect. Lines 10-17 describe the reactions of the cat, who is exploring the natural world,
including a “constellation of fireflies flickering / near her head,” when the neighbor calls to
her. The poet describes the cat’s conflict by saying that “It’s as if she can’t decide” whether
to stay outdoors or return “into the steady circle / of light” at home with the neighbor.
However, the cat’s indecision demonstrates that, rather than being a disappointment, the
natural world is as appealing as home.

D. CORRECT. Lines 10-11 describe how the cat “turns first / toward the voice, then back,”
indicating that the cat is experiencing a conflict. To the speaker, the cat seems “as if she
can’t decide” (line 13) between exploring “the constellation of fireflies” (line 12) outdoors
and returning to the familiar “steady circle / of light” (lines 16-17) indoors. This central idea
that someone might experience a conflict between exploring and returning to the familiar is
suggested again in lines 28-29 when the speaker wonders whether “the sounds I make /
are enough to call someone home.”



28. The question asks how the phrases “luminous possibility” and “all that would keep her / away

from home” (lines 17-19) affect the poem.

A. Incorrect. In lines 20-21, the neighbor’s voice “trails off,” and the speaker states that “she’s
given up calling for now,” which could be interpreted as a lack of concern. However, these
lines describe the neighbor rather than the cat. The phrases from lines 17-19 are used to
explain that what keeps the cat from returning home is the allure of “luminous possibility.”
The use of the phrase “all that would keep her” suggests that the cat would likely return
home to the security of “the steady circle / of light” (lines 16-17) if not for the possibilities
offered by the night, implying that the cat usually prefers to be at home with the neighbor.
The phrases do not highlight a lack of concern for the neighbor on the part of the cat.

B. Incorrect. While the phrase “luminous possibility” does convey a high degree of interest, it
is used to describe why being outside at night appeals to the cat. It does not describe the
speaker’s interest in the cat. The speaker observes the cat as it tries to decide between
returning home and staying out and then concludes that it is only “luminous / possibility . . .
that would keep [the cat] / away from home.”

C. CORRECT. The phrases are used to explain that the cat, though tempted to return home, is
also tempted or compelled by “luminous possibility” to remain outdoors. The phrases
convey a sense of wonder about what the night may offer, and it is the powerful effect of
this sense of wonder (“all that would keep her / away from home”) that ultimately tempts
the cat to remain outdoors rather than return to the comforts of home.

D. Incorrect. Lines 17-19 present the speaker’s observations about the cat as it tries to decide
whether to stay where it is or return home. The speaker explains that it is only “luminous
possibility” that can convince the cat to stay rather than return to the comforts of home.
While the speaker then imagines the neighbor indoors, there is no indication that the
speaker supports the cat’s decision. The speaker merely notes that the neighbor stops
calling to the cat “for now” (line 21), and then the speaker reflects on the possible results of
calling someone home.



29. The question asks which idea the imagery in lines 11-13 helps convey.

A. Incorrect. Line 13 includes the speaker’s observation that the cat seems “as if she can’t
decide” whether to stay outside or go to the neighbor. However, the imagery of the
“constellation of fireflies flickering” in line 12 suggests that the cat does have a preference
for exploring the more exciting “luminous / possibility” (lines 17-18) of the outdoors.

B. Incorrect. The imagery in lines 10-11 of the cat turning “first / toward the voice, then back”
might seem to suggest that the cat is eagerly watching both the neighbor and the fireflies to
see what will happen next. However, line 13, in which the cat seems “as if she can’t decide,”
indicates that what will happen next is actually under the cat’s control.

C. Incorrect. The imagery in lines 12-13 of the “fireflies flickering / near her head” does
indicate the fireflies’ unpredictable behavior. However, the imagery in lines 10-11 of the cat
turning “first / toward the voice, then back” establishes that the cat’s attention is split
between the fireflies and the “high-pitched wheedling” (line 5) of the neighbor’s voice,
rather than being fully captured by wanting to understand the fireflies.

D. CORRECT. The imagery in line 12 of “the constellation of fireflies flickering” suggests that
the outdoors holds fascinating attractions, an idea supported by the description
in lines 17-18 of the cat’s current location outdoors as one filled with “luminous /
possibility.” The imagery in lines 10-11 of the cat turning “first / toward the voice, then
back” indicates that the cat has considered but rejected the option of returning indoors, and
the description in lines 16-17 of the indoors as offering only a “steady circle / of light”
suggests that the indoors seems unremarkable to the cat in comparison to the outdoors.



30. The question asks how the setting affects the events discussed in the poem.

A. Incorrect. In line 2, the speaker refers to the woman calling for her cat as “my neighbor,”
which clearly suggests that the speaker lives next door to the woman. However, although
the two live next door to each other, line 1 suggests that perhaps the speaker does not
regularly overhear the neighbor because the speaker initially thinks that the neighbor is
“calling a child” and only later realizes the neighbor is calling to a cat. Although the setting
places the speaker and the neighbor in close proximity, the poem does not indicate the
frequency or regularity with which the speaker overhears the neighbor.

B. CORRECT. In the first four lines, the speaker observes the actions of the neighbor as the
neighbor leans out to call for the cat at dusk. Despite the speaker’s observation of the
neighbor, there is no indication that the neighbor notices the speaker. The reader can
conclude that because of the time of day and the speaker being in the house next door, the
speaker can observe the neighbor without being observed by her or having to
interact with her.

C. Incorrect. The setting of the poem is a neighborhood at nightfall, as indicated by “at dusk”
in line 3, the reference to “another yard” in line 9, and the flickering fireflies in line 12.
However, while the speaker is close enough to the neighbor to overhear her calling to the
cat, there is no indication that the speaker feels connected to the neighbor. Instead, the
speaker expresses curiosity about the neighbor after the neighbor goes inside, and the
speaker is “left . . . / to imagine her inside the house waiting” (lines 21-22). The fact the
speaker initially thought that the neighbor was calling a child indicates that the speaker is
not familiar with the neighbor and her habits, and there is no indication that the speaker
feels connected to the neighbor.

D. Incorrect. In lines 22-24, the speaker imagines what the neighbor may be doing while the
neighbor is waiting inside for the cat to return, but the speaker is imagining the neighbor’s
solitary experience after the neighbor has momentarily “given up” on calling to the cat
(line 21). The speaker does not imagine personally interacting with the neighbor but rather
briefly imagines what the neighbor is doing at home while the cat is away.



31. The question asks for an explanation of how the poet mainly develops a theme about making

connections with others.

A. CORRECT. The speaker first describes the neighbor calling the cat in a “high-pitched
wheedling” (line 5) voice before giving up and returning indoors. The neighbor’s desire to
have the cat return home prompts the speaker to wonder whether the speaker could call out
and be “certain the sounds . . . / are enough to call someone home” (lines 28-29). These
final lines most develop the theme of connection by conveying a desire to be able to prompt
someone’s return.

B. Incorrect. Line 1, in which the speaker at first thinks the sound in the neighborhood is the
neighbor “calling a child,” might be assumed to introduce a theme of making connections
with others. However, other descriptions of the sights and sounds of the neighborhood,
including the time of day—*at dusk, street lamps just starting to hum / the backdrop of
evening” (lines 3-4) and “constellation of fireflies flickering” (line 12) near the cat—have no
relationship to a theme of connection.

C. Incorrect. In lines 22-24, the speaker imagines the neighbor’s activities inside her house:
“perhaps in a chair in front of the TV, / or walking around, doing small tasks.” Although the
speaker does imagine the neighbor is doing these things to pass time while “waiting”

(line 22) for the cat, the neighbor’s actions—and even the speaker’s imagining—are carried
out alone, so they do not develop a theme of connection.

D. Incorrect. Lines 10-19 present the speaker’s observations of the cat, which “turns first /
toward the voice, then back” when the neighbor calls, then appears “as if she can’t decide”
whether to return to the neighbor or stay outside. Although the cat’s indecision about
whether to heed the neighbor’s call might seem to develop a theme about making
connections, lines 10-19 focus more on the relative appeal of the cat’s two options—
returning to “the steady circle / of light” at home or pursuing the “luminous / possibility . . .
flitting before her”—than on any connection between the cat and its owner or between the
speaker and the neighbor.



Using Fire to Keep a Prairie Healthy

32. The question asks how observing the effects of the fires started by natural causes prompted

American Indians to begin practicing controlled burns.

A. CORRECT. In paragraph 2, the author states that American Indians observed bison “grazing
on tender new grass on the recently burned land rather than on grass in the unburned
areas.” These observations prompted the practice of controlled burns as a means of enticing
“the herds away from the people’s crops.”

B. Incorrect. Although the author mentions in paragraph 4 that the primary targets of a
controlled burn are red cedar trees and that “these tall trees also cast shade that prevents
sunlight from reaching the plants beneath them,” this detail supports why conservationists
use controlled burns today, not what initially prompted the use of controlled burns.

C. Incorrect. While the author states in paragraph 3 that “the process of burning excess plant
matter adds nitrogen, an essential element for plant growth, to the soil” and that
“intentionally burning a portion of land can dramatically improve the quality of the
vegetation that regrows there,” these details do not explain the initial observations that
prompted American Indians to practice controlled burning.

D. Incorrect. While paragraph 2 mentions that bison moved to a new area to graze because
they preferred the “tender new grass on the recently burned land,” there is no indication in
the passage that bison changed their migration habits in order to flee wildfires.

33. The question asks how targeting red cedar trees in controlled burns affects the animals that live

on the prairie.

A. CORRECT. According to information in paragraph 4, targeting invasive red cedar trees with
controlled burns affects animals that live on the prairie by ensuring that these trees do not
“crowd out prairie grasses, the primary food source for wild and domestic animals that
make the prairie their home.” The paragraph also states that each red cedar tree consumes
“up to 40 gallons of water per day, taking this vital resource away from other plant life.”
Removing red cedars thus increases the amount of water available to the prairie grasses
and helps maintain favorable conditions for the animals’ main source of food.

B. Incorrect. Although the author mentions the potential danger to wildlife from an
uncontrolled burn in paragraph 5, the author emphasizes that patch burning “allows animals
in the burn area to safely relocate.” Therefore, the animals that live near trees scheduled for
removal are not endangered by the controlled burns.

C. Incorrect. In paragraph 4, the author states that “a single red cedar tree can consume up to
40 gallons of water per day, taking this vital resource away from other plant life.” However,
the author does not suggest that reducing the number of red cedar trees through controlled
burns ensures a sufficient water supply for animals that live on the prairie.

D. Incorrect. In paragraph 4, the author states that “these tall trees also cast shade that
prevents sunlight from reaching the plants beneath them.” However, the author does not
suggest that using controlled burns to eliminate red cedar trees reduces a natural source of
shade for prairie animals. The red cedar trees are invasive; therefore, the author does not
consider them a “natural” part of the prairie ecosystem.



34. The question asks what the author intends to show by using the second sentence in

paragraph 6 in the passage.

A. Incorrect. Although the author refers to the conservationists as “experts” in paragraph 5
and states that conservationists “provide training to prairie farmers” (paragraph 6), the
second sentence in paragraph 6 does not imply that the conservationists are better qualified
to lead preservation efforts than farmers are. Instead, the sentence shows that
conservationists believe that prairie farmers are capable of performing the controlled burns
that contribute to overall conservation efforts.

B. CORRECT. The conservationists are eager to involve others in the preservation of the
prairie, because “studies show that the patch-burn approach has restored biodiversity to the
area by promoting the growth of species that were at risk of being crowded out” and that
the process has “helped the prairie sustain life for hundreds of years” (paragraph 6). The
second sentence in paragraph 6 describes how conservationists are sharing their knowledge
about preservation techniques with people who live on the prairie.

C. Incorrect. Although the author points out in paragraph 6 that “studies show that the patch-
burn approach has restored biodiversity to the area by promoting the growth of species that
were at risk of being crowded out,” the idea that controlled burns may help restore the
original biodiversity of the prairie is not the focus of the second sentence in paragraph 6,
which notes only that conservationists are providing training to farmers about
controlled burns.

D. Incorrect. The author mentions in paragraph 6 that the patch-burn system has been
“successful” and suggests in the last sentence of the paragraph that the use of controlled
burns will continue to benefit the prairie ecosystem. These details imply that this system will
continue to be used and may even become more widespread. However, the second sentence
in paragraph 6 merely describes a patch-burn training program that already exists and does
not suggest that this program should serve as a model for other organizations.



35. The question asks which details from the passage best convey the central idea that using the

patch-burn method is an effective way to protect and manage prairie land.

A. Incorrect. The author explains in paragraph 5 that “patch burning contains the fire within a
specific area and allows animals in the burn area to safely relocate.” This explanation
conveys two supporting ideas: the patch-burn method is controllable, and patch-burn fires
do not pose a threat to animals. However, this explanation does not address the broader
central idea that the patch-burn method is an effective way to protect and manage
prairie land.

B. Incorrect. In paragraph 5, the author states that “the key to using controlled fires is
knowing which areas of land to burn and when.” The author then provides information about
how conservation experts “study the land to find out which areas would most benefit from
being burned.” However, these details convey supporting ideas rather than the central idea
that using the patch-burn method is an effective way to protect and manage prairie land.

C. CORRECT. In paragraph 3, the author states that “fires burn away weedy undergrowth and
help limit the overcrowding of shrubs and trees in the burn area, creating less competition
for water and nutrients.” Also, in paragraph 6, the author states that patch burning “has
restored biodiversity to the area by promoting the growth of species that were at risk of
being crowded out.” These details directly convey the central idea that using the patch-burn
method is an effective way to protect and manage prairie land.

D. Incorrect. The author explains in paragraph 5 how conservationists “arrange about a dozen
burns over one-third of the land,” which helps show how the patch-burn method is applied
by conservationists. However, this is a supporting detail that conveys the idea that the
burns are deliberately set and carefully controlled. This detail does not convey the central
idea that using the patch-burn method is an effective way to manage and protect
prairie land.



36. The question asks which sentence supports the idea that farmers and people who manage land

may be concerned about using fire as a way to benefit the land.

A. CORRECT. The sentence from paragraph 1 supports the idea that farmers and people who
manage land may be concerned about using fire as a way to benefit the land because it
acknowledges that “one of the greatest threats to the prairie is wildfire.”

B. Incorrect. Although the sentence from paragraph 2 relates how American Indians “began to
deliberately burn areas of land for bison to graze on” and to protect people’s crops, the
sentence does not support the idea that farmers and people who manage land may be
concerned about using fire as a way to benefit the land. Instead, it focuses on the
cause-and-effect relationship between bison and newly burned areas.

C. Incorrect. The sentence from paragraph 5 provides details about how “patch burning
contains the fire” and “allows animals in the burn area to safely relocate,” but it does not
adequately support the idea that farmers and people who manage land may be concerned
about using fire as a way to benefit the land, because it does not mention that wildfires can
be a threat to the prairie.

D. Incorrect. While the sentence from paragraph 5 does explain how “conservationists will burn
a different section of the preserve” in order to rotate the process year after year so that the
burned land has time to regrow, the sentence does not support the idea that farmers and
people who manage land may be concerned about using fire as a way to benefit the land
because it does not mention the potential for total burns.



37. The question asks which idea the words “counterintuitive” and “strategic” convey in the last

sentence in paragraph 6 in the passage.

A. Incorrect. Though the author states in paragraph 6 that conservationists have used safe and
“strategic” methods, those methods have not been ineffective, since “the patch-burn system
is so successful that the conservationists at the preserve provide training to prairie farmers
about conducting controlled burns on their own land” (paragraph 6). Therefore, the words
“counterintuitive” and “strategic” in the last sentence of paragraph 6 do not convey the idea
that the safest methods are sometimes the least effective at solving complex challenges.

B. Incorrect. Although the author points out in paragraph 6 that researchers’ studies have
shown “that the patch-burn approach has restored biodiversity to the area by promoting the
growth of species that were at risk of being crowded out,” the author does not suggest that
the methodologies conservationists used to conduct the patch burns are uncommon, since
the methods were used by “the American Indian people [who] began to deliberately burn
areas of land for bison to graze on” (paragraph 2). Therefore, the words “counterintuitive”
and “strategic” in the last sentence of paragraph 6 do not convey the idea that thorough
investigation of uncommon methodologies can lead to beneficial results.

C. CORRECT. In paragraph 1, the author states that “one of the greatest threats to the prairie
is wildfire,” so the idea of conducting controlled burns suggests risk and runs “counter,” or
contrary, to people’s common expectations, or “intuition,” about the dangers of fires. Thus,
the words “counterintuitive” and “strategic” in the last sentence of paragraph 6 convey the
idea that detailed planning can ensure that a potentially destructive action has a
positive impact.

D. Incorrect. The author states in paragraph 6 that “the patch-burn system is so successful
that the conservationists at the preserve provide training to prairie farmers.” This statement
supports the idea of the action being “strategic” in order to achieve success. However, the
statement does not suggest that because the process is “counterintuitive,” or unexpected, it
involves a certain amount of risk to achieve that success. Therefore, the words
“counterintuitive” and “strategic” in the last sentence of paragraph 6 do not convey the idea
that plans that entail a certain amount of risk almost always result in success.



38. The question asks with which statement the author of the passage would most likely agree.

A.

Incorrect. In paragraph 5, the author states that “patch burning contains the fire within a
specific area and allows animals in the burn area to safely relocate,” and paragraph 6 states
that conservationists “provide [important] training to prairie farmers about conducting
controlled burns on their own land.” However, the author does not explicitly take a position
about the importance of explaining the purposes and the risks of controlled burns to the
people living near a proposed burn area. Therefore, the evidence in the passage does not
strongly suggest that the author would agree with this statement.

CORRECT. In paragraph 5, the author points out that conservationists “study the land to
find out which areas would most benefit from being burned, and then they arrange about a
dozen burns over one-third of the land” and “rotate which portion of land is burned each
year” so that animals, such as bison, can “safely relocate.” Therefore, the author would
most likely agree that it is necessary to thoroughly examine a particular region in order to
plan and execute a successful controlled burn.

Incorrect. The author of the passage would be unlikely to agree that monitoring animals’
reactions after a controlled burn on the prairie is a minor part of scientists’ research. In
paragraph 5, the author explains that patch burning “allows animals in the burn area to
safely relocate” and that conservationists “burn a different section of the preserve” each
year to ensure that animals have an abundant area to graze while other areas are

being burned.

Incorrect. According to the information in paragraph 4, conservationists commonly target
invasive red cedar trees because they are tall trees that “crowd out prairie grasses, the
primary food source for wild and domestic animals that make the prairie their home.” Since
the focus is on the harm that the invasive red cedar can cause, the author would be unlikely
to agree that conservationists should consider the helpful aspects of invasive species before
executing a controlled burn.



39. The question asks how the diagram and its text provide additional support for the topic

presented in the passage.

A. CORRECT. The text of the diagram states that “by using a patch-burn method,
conservationists and farmers can reduce the risk of unintentional fires and control where
grazing animals, such as bison, roam.” By showing the pattern of controlled burns and the
resulting bison migration in a given area, the diagram depicts how the landscape changes as
the patch-burn method is applied.

B. Incorrect. Although the text mentions areas “where grazing animals, such as bison, roam,”
the diagram does not depict distinctive features of the land such as trees or brush and
therefore does not indicate that patch-burn fires are best suited for use in areas with
certain features.

C. Incorrect. While the text mentions “grazing animals, such as bison” and the diagram shows
the bison grazing in only one area, the diagram and its text do not indicate that the patch-
burn method is used on uninhabited land.

D. Incorrect. While the areas of land depicted in the diagram do indicate that the sizes of the
areas differ, the text provided does not compare the sizes of the areas burned by the patch-
burn method with those of unburned areas or indicate that this factor is important in
reducing the risk of uncontrolled fires or controlling “where grazing animals, such as
bison, roam.”



Letter from Brooklyn

40. The question asks how the structure of the poem affects its meaning.

A. Incorrect. Though the poem lacks a rhyming pattern, such a structure is not related to the
uniqueness of the passing days. The speaker is savoring “the early edge of fall” (line 7) and
describes walks taken on “these days” (line 17), but the beauty the speaker appreciates is
attributed to the fall season rather than to a unique day. Further, the poem is primarily
concerned with broad seasonal shifts, not the passing of each day, and the absence of
rhyme does not suggest that each day is unique in its beauty.

B. Incorrect. The poem includes both long sentences (such as the one in lines 7-12) and short
sentences (such as those in lines 5 and 6). However, the sentence lengths are not
connected with the complexity of the ideas expressed.

C. Incorrect. A complete sentence serves to present the beginning and the end of a single
thought, but the poem is not primarily concerned with the speaker’s thoughts on the “clear
beginning and ending of each season.” Though it contrasts the speaker’s feelings and
experiences during different seasons, the poem does not present descriptions focused
specifically on the beginnings or ends of these seasons.

D. CORRECT. Unlike poems that are broken into stanzas reflecting unified groups of thoughts,
this poem is one long stanza. This structure serves to emphasize the uninterrupted flow of
the speaker’s thoughts from time to time and experience to experience without a clear
break between any specific thoughts.

41. The question asks which lines from the poem support the idea that a change in the weather will

lessen the speaker’s appreciation for the city.

A. Incorrect. These lines focus on the positive way the air feels to the speaker during “the early
edge of fall” (line 7). They suggest that the speaker appreciates this experience currently,
while being aware that the feeling might not last.

B. CORRECT. In these lines, the speaker describes the shift in the “closeness” of the air as the
weather changes and “it starts darkening at 4.” The speaker clearly indicates that the
positive emotions surrounding this closeness, with “leaves green still” and the air “slightly
crisp” (lines 8-9), will soon be “a felt distance,” suggesting that the turn in the weather will
make the city less appealing.

C. Incorrect. Although these lines compare the darkening, changing weather to a person
revealing a “lack of intimacy,” that specific comparison does not focus on a diminishing
appreciation for the city.

D. Incorrect. These lines describe the “cathedral pace” (line 17) at which the speaker walks,
emphasizing a meditative or thoughtful experience. Such a description suggests the speaker
still appreciates the city, not that the speaker’s appreciation will lessen.



42,

The question asks how lines 5-6 develop a central theme of the poem.

A.

Incorrect. In this poem, the speaker describes the impressions of one day in one season:
“For now it is the early edge of fall, / leaves green still while the air narrows, / is slightly
crisp” (lines 7-9). Despite the reference in line 5 to the eventual arrival of cold weather,
lines 5-6 primarily emphasize the speaker’s wish to stay focused on the present moment. A
contrast between seasons is not a central theme of the poem.

Incorrect. The words “The weather will turn cold” in line 5 refer to one change that is
expected to occur, but lines 5-6 do not show a sequence of changes. The line that follows
returns to the present: “For now . . .” (line 7).

. Incorrect. Although the statement that the weather “will turn cold” in line 5 could be

construed as a warning, there is no support in lines 5-6 for the idea that some problems
require thoughtful preparation. The speaker is reflecting on a fleeting experience, not
preparing to solve a problem.

CORRECT. Immediately after the line “The weather will turn cold” (line 5), the speaker
returns to the current moment: “But that all happens later” (line 6). These lines help
develop a central theme by emphasizing the speaker’s choice to value and focus on the
present moment. The “But” at the start of line 6 shows the speaker pulling back from the
future and refocusing on the present, thus emphasizing the importance of savoring “the
moment I am walking inside of” (line 22).

43.

The question asks what belief of the speaker is conveyed by the word choice in lines 7-9

of the poem.

A.

CORRECT. Words and phrases in these lines, such as “leaves green still” and “slightly
crisp,” have a positive connotation, indicating that the speaker believes in appreciating this
season while it still lasts.

Incorrect. Although imagery such as “leaves green still” and “slightly crisp” in these lines
suggests that the speaker enjoys the season, the speaker never indicates that the present
season is the most pleasant of all seasons.

. Incorrect. The phrases “the early edge of fall” and “the air narrows” in these lines imply

that the season is just beginning to change, but there is no indication from these phrases
that the changes will be swift and without warning. In fact, the narrowing of the air could be
a warning of a greater, more gradual change in weather.

Incorrect. The speaker experiences the change in weather as subtle: “the air narrows, / is
slightly crisp.” However, the speaker does not refer to the viewpoints of others. The entire
viewpoint in the poem is personal and introspective, as represented by the use of the
pronoun “I” throughout.



44.

The question asks how lines 9-12 convey a central idea of the poem.

A.

Incorrect. Although the speaker discusses the very beginning of cool weather in these lines,
the speaker does not reflect on life in these lines.

Incorrect. Although the description in these lines likens the movement of crisp air to “a
passing stranger,” that comparison does not have a negative connotation in this context; it
does not suggest that the speaker is uncomfortable. Rather, it is used to describe the subtle
physical sensation of cool air on the speaker’s arm.

. CORRECT. By using a description of the crisp air as “a passing stranger” and the daylight as

being brief, these lines express the poem’s central idea that the joy of early fall is temporary
or fleeting.

Incorrect. Although the speaker acknowledges the coming fall in these lines, there is no
mention of loneliness. The speaker reveals a loneliness in lines 23-26 but gives no hint of
that feeling in lines 9-12. Further, this loneliness is not a central idea of the poem.

45.

The question asks what the comparison of the brownstone houses to “a pop-up picture book I

could have had as a child, / but didn't” (lines 20-21) conveys.

A.

Incorrect. While the lines explain that the neighborhood reminds the speaker of images from
childhood pop-up books, those images are not described as very powerful or influential.

CORRECT. Pop-up picture books are likely to delight a child with their unique, often
beautiful representations of buildings that pop up out of the page. The comparison in these
lines helps explain how the speaker views these brownstones with a childlike wonder and
appreciation.

. Incorrect. Though in these lines the speaker compares this neighborhood to scenes in

children’s pop-up picture books, there is no clear evidence that the speaker wants to live
there, only that the speaker appreciates its appeal.

Incorrect. The lines state that the speaker did not have a “pop-up picture book” of the
neighborhood’s brownstones as a child, but not in a way that emphasizes regret. Rather, the
speaker compares the neighborhood to images from pop-up books in general to suggest
that the neighborhood looks beautiful and delightful.



46. The question asks how line 1 and lines 21-22 develop a central idea of the poem.

A. Incorrect. Although these lines suggest that life is governed by repetitive patterns, such as
the change of seasons, they do not suggest that the speaker wishes to break free from
these natural cycles of change, and a desire for freedom is not a central idea of the poem.

B. Incorrect. Although the speaker acknowledges that colder weather will inevitably bring
disappointment, the speaker does not suggest in these lines that the predictability of
changing weather is itself disappointing. Rather, the speaker recognizes the value of
enjoying the present moment.

C. CORRECT. These lines connect the present warmer weather with the future colder weather
and develop the central idea that the present “moment I am walking inside of” must be
embraced because the speaker will be “nostalgic” for it in the future.

D. Incorrect. In these lines, the speaker is aware that specific emotions will occur in the future,
during cold weather, but this awareness is only part of the more complex central idea of the
poem, which is that current emotions and feelings must be recognized, experienced, and
appreciated.

47. The question asks how the speaker’s thoughts throughout the poem develop a theme.

A. CORRECT. The speaker’s thoughts develop some tension because seasonal change will
inevitably come: “The weather will turn cold” (line 5). However, the speaker is still able to
enjoy the present experience because “that all happens later” (line 6). In lines 21-22, the
speaker begins to describe experiences that create a longing for the present, even while it is
still happening (“How Brooklyn makes me nostalgic / for the moment I am walking inside
of”), developing a theme of the poem.

B. Incorrect. The speaker’s thoughts reveal an appreciation for the city, but this appreciation is
highly personal and individual. These thoughts do not indicate that most people will feel
drawn to cities.

C. Incorrect. Some things, such as seasons, are beyond human control, as the speaker
concedes: “I can already see how this will end” (line 1). However, the theme of the poem is
not that certain things are inevitable, but that one can live in the present moment and enjoy
that experience before change occurs.

D. Incorrect. The speaker’s thoughts are not showing that people are surprised by what the
days bring; the thoughts of the speaker suggest that people experience many seasons in
Brooklyn and have reasonable expectations about what these days will bring.



48. The question asks how the poet develops the speaker’s point of view.

A. Incorrect. The speaker concedes that at some point, Brooklyn will become tiresome
(lines 2-4). However, the bulk of the poem reveals the speaker’s appreciation for
experiencing Brooklyn, not a desire to be in some other place.

B. Incorrect. Cold weather is inevitable, and the speaker is well aware of this future shift as
well as the change in attitude it will bring. Nevertheless, the speaker does not focus on this
future but rather embraces the current season, describing it in vivid detail.

C. Incorrect. The speaker is not hopeful that life will remain unchanged. Rather, the speaker
accepts and appreciates the seasonal changes that occur.

D. CORRECT. The speaker’s point of view is largely positive and appreciative of the shift in
seasons. This point of view is developed by language that shows a close connection between
the speaker and the setting. For example, the speaker uses words such as “intimacy”

(line 11) and “closeness” (line 14) and the description of the “pop-up picture book”

(line 20). Finally, the conclusion emphasizes the point of view: “These late afternoons
filled / with a loneliness that makes me feel / distinctly myself, and an awareness / of how
rare that is” (lines 23-26).



REVISING/EDITING PART A

The End of an Era

49. The question asks for the sentence that should follow sentence 3 to best introduce the topic of

the passage.

A.

CORRECT. This sentence best introduces the passage’s topic: the Opportunity rover had
many accomplishments on its mission, despite humerous challenges. Some of those
accomplishments include providing high-resolution photographs (paragraph 2), traveling
long distances (paragraph 3), and providing data about craters and other surface features
(paragraph 3).

Incorrect. Although paragraph 2 discusses how photographs taken by the rover showed
rocks that may have been shaped by water, this idea alone is not the topic of the

entire passage.

. Incorrect. While this sentence incorporates ideas about difficulties the scientists encountered

because of the Opportunity rover’s design (paragraph 4), the main topic of the passage is
not the design flaws and obstacles scientists encountered throughout the mission. The
passage primarily focuses on the achievements of the mission.

Incorrect. While it is true that the Opportunity rover mission lasted much longer than
planned (sentence 3), this fact is a supporting detail of the passage, not the main topic of
the passage; surpassing the original timeline is only one of the rover’s many achievements
mentioned in the passage.

50.

The question asks for the word that should be added to the beginning of sentence 8 to provide

a better transition to the third paragraph (sentences 8-11).

A.

“Overall,” is incorrect and should not be added. While sentence 8 is a more general
statement than sentence 7, the word “Overall” would imply that all of the third paragraph
features general information about the Opportunity rover. Instead, paragraphs 2 and 3 both
describe specific accomplishments of the Opportunity rover (the discovery of possible water
on Mars and the distance the rover traveled), so these paragraphs require a word between
them that does not transition from the specific to the general.

“Furthermore,” is incorrect and should not be added. The word “Furthermore” would
suggest that the author is making an argument in paragraph 2 that is further developed by
the statement in sentence 8 and the rest of paragraph 3. Because this is not the case, the
word “Furthermore" is not a suitable transition from one paragraph to the next.

. “Meanwhile,” is correct and should be added. The word “Meanwhile” is an appropriate

transition to add to the beginning of sentence 8, since the actions of the Opportunity rover
in paragraph 2 (taking photographs) and in paragraph 3 (traveling long distances)
happened at the same time and both served critical functions to the overall mission.
“Consequently,” is incorrect and should not be added. The word “Consequently” would
create a cause-and-effect relationship that does not exist between the paragraphs. The
passage gives no indication that the rover’s actions in the third paragraph (traveling a far
distance) resulted from the actions in the second paragraph (taking photographs).



51.

The question asks for the revision of sentence 11 that best maintains the formal style

established in the passage.

A.

CORRECT. This sentence uses clear and formal writing throughout. The phrase “covered the
planet” is accurate and formal without being overly poetic, and “standstill” is a precise word
for putting something “on hold,” as expressed by the original sentence, while maintaining
the formal style of the passage.

Incorrect. Although the sentence is formal in style, the word “shrouded” is overly poetic,
and the phrase “impermanently halting” is too stilted and formal for the style and tone of
the passage.

. Incorrect. Although the sentence is formal in style, the words “enveloped” and “arresting”

are overly poetic, especially when used in the same sentence, and the phrases “the whole of
the planet” and “for a time” are needlessly wordy and imprecise, compared with the formal
scientific language of the passage.

Incorrect. The phrases “covered up the whole planet” and “quickly brought a stop to the
progress of the rover” are less formal and unnecessarily wordy, compared with the formal
style established by the rest of the passage.

52.

The question asks where the sentence should be added to the passage.

A.

Incorrect. While sentence 2 refers to Opportunity’s mission to search for evidence of water,
sentence 3 mentions the rover lasting much longer than anticipated. Placing the sentence
between these two ideas, rather than at the start of the second paragraph, where it
introduces the topic of the paragraph, would create a disjointed and confusing experience
for the reader.

CORRECT. The sentence introduces the idea of finding possible evidence of water on Mars,
which is the main topic of the second paragraph.

Incorrect. The sentence sets up the main idea of paragraph 2, which is the possibility of
water on Mars. As a concluding sentence, it would be repetitive and confusing.

Incorrect. The sentence introduces the possibility of water on Mars, while sentences 8 and 9
discuss other surface features and the distance traveled by the rover. Adding the sentence
here would create a disorganized paragraph.



53. The question asks for the best way to combine sentences 12 and 13.

A. Incorrect. The phrase “this planet-wide dust storm” in the original sentence 12 makes a
direct reference to sentence 11 and therefore acts as a transition that should be kept at the
beginning. In this sentence, the transition phrase is placed at the end of the sentence,
making the phrase confusing. In addition, the sentence is unnecessarily repetitive
and wordy.

B. Incorrect. This combination unnecessarily turns sentence 12 into an overly long dependent
clause, making the connection between “it” and its antecedent, “the rover,” unclear and
distracting from the subject of the sentence, “minor dust storms.”

C. Incorrect. Not only does this combination move the reference to “this planet-wide dust
storm” farther from sentence 11, but it is also unnecessarily wordy, adding “because” and
repeating “the rover.”

D. CORRECT. This sentence efficiently and accurately adds sentence 13 to sentence 12 as a
dependent clause by changing “These prevented” to “preventing,” while also retaining the
meanings of the original sentences 12 and 13.



REVISING/EDITING PART B

54.

The question asks which part of the paragraph contains an error in sentence structure.

A.

Choice 1: “Institution, the"” contains an error in sentence structure. The comma between
these two words creates a type of run-on sentence known as a comma splice because both
clauses—“In September 2016 the National Museum of African American History and Culture
opened as part of the Smithsonian Institution” and “the museum is already the
Smithsonian’s third most popular site”—are independent clauses, and must be separated
with either a period or semicolon. If a comma is used to join the clauses together, a
conjunction such as and would need to be added after the comma [converting the comma
splice into a correct compound sentence].

Choice 2: “year. The” is correctly constructed, with independent clauses on both sides of the
period (“Experts say that they expect this newest Smithsonian facility to welcome nearly 4
million visitors a year” and “The museum features more than 30,000 objects, including
Muhammad Ali's boxing gloves and a dress sewn by Rosa Parks”).

. Choice 3: “objects, including” is correctly constructed. The sentence is correct as written

with the nonrestrictive appositive phrase (“including Muhammad Ali’s boxing gloves and a
dress sewn by Rosa Parks”) properly preceded by a comma.

Choice 4: “Proclamation, written” is correctly constructed. The sentence is correct, with the
nonrestrictive clause (“written in 1863 during the presidency of Abraham Lincoln”) properly
offset by a comma on either side.

55.

The question asks for the best way to combine the sentences to clarify the relationship

between the ideas.

A.

Incorrect. Even though the two ideas from the original sentences are incorporated into the
combined sentence, the use of the conjunction “while” in the first part of the sentence
suggests that there is a simultaneous but unrelated relationship between the two ideas,
which is incorrect.

Incorrect. The combined sentence incorporates the ideas from both sentences, but the
conjunction “although” suggests that scientists were allowed to collect data even though
there were flyby missions, which is an inaccurate way to express the relationship between
the ideas.

. CORRECT. This sentence is the best way to combine the sentences because it accurately

reflects the relationship between the ideas by using the nonrestrictive clause “which allow
scientists to collect data about the planet and its moons” to describe the purpose of the
flyby missions. (Nonrestrictive clauses are adjective clauses that give additional information
about a word or phrase. They sometimes begin with the relative pronoun “which” and are
set off by commas.) The idea that the missions “have been happening since 1973” follows
the nonrestrictive clause.

Incorrect. The combined sentence uses the conjunction “but” to connect the ideas in the
two original sentences. This suggests an adverse relationship between ideas, which is an
inaccurate way to connect the ideas expressed in the original sentences.



56.

The question asks which sentence in the paragraph contains an error in construction.

A.

Sentence 1: Construction is correct. An introductory prepositional phrase is correctly
punctuated in sentence 1 and describes when the power outage occurred. Similarly, the
direct object, “the Upper West Side of Manhattan in New York City,” is presented clearly in
terms of what area was “affected” by the power outage.

Sentence 2: Contains an error in construction. In sentence 2, the phrase “Leaving
approximately 73,000 residents without electricity for three long hours” is a dangling
modifier because it is not clearly modifying any word or words in the sentence. It actually
further describes the “power outage” in sentence 1. In clear and correct construction, all
modifiers should be in the same sentence as and near the words they describe in order to
avoid confusion.

. Sentence 3: Construction is correct. A dash is used appropriately in sentence 3 to show a

break in thought and to introduce the phrase “on the exact same day.”

Sentence 4: Construction is correct. Two commas are used correctly in sentence 4 to set off
the nonessential clause “which lasted for 25 hours” from the rest of the sentence. Similarly,
one comma is used to set off the nonessential appositive “an odd coincidence to say the
least.” Both of these elements are nonessential to the sentence’s overall meaning and are
thus correctly separated from the sentence by the use of commas.

57.

The question asks how the paragraph should be revised.

A.

Incorrect. The revisions in this option introduce new errors. The word “spent” is correct in
the simple past tense because it encompasses the actions described throughout the rest of
the paragraph, all of which happened during those “several hours.” Additionally, adding a
comma after the word “play” would be incorrect because it would unnecessarily separate
the prepositional phrase “at the community theater” from the rest of the sentence.

Incorrect. The revisions in this option introduce new errors. The word “did” is correct as
written in the past tense because the past tense is used throughout the paragraph. There is
no comma needed after the word “projection” because “so” is functioning not as a
conjunction but rather as part of the conjunction phrase “so that,” which does not

take a comma.

. CORRECT. Changing the word “studies” from the present tense to the past tense “studied”

nou

is necessary to match the past tense established in the paragraph (“spent,” “recited”).
Additionally, the comma after the word “emotions” needs to be removed because the words
“emotions and motivations” are part of a group (series) of two elements, and when there
are only two elements in a series, a comma is not used.

Incorrect. The revisions in this option introduce new errors. The word “recited” is correct as
written in the past tense because the past tense is used throughout the paragraph. Also,
removing the comma after “times” is incorrect because the comma is needed in order to
separate the modifying phrase “making slight adjustments and improvements to her
performance each time” from the main clause.





